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Simplify.
7.(3n2 + 1) + (8n2 - 8)

9. (~6n — 1302 + (=8n + 9n?)

11. (5m? — 2mp — 6p?) — (~3m? + 5mp + p?)

18.(5t — ) + (22 + 3¢t + 12)

15. -9(y% — Tw)

17. —6a’w(a’w — aw?®)

19. 22262 + 2y — 2%)

21 (02 - 6)w? + 4)

23.(y - 8

25. (5x + 4w)(5x — 4w)

27. (w + 28)w? — 2ws + 4s?)
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Factor completely. If the polynomial is not factorable, write prime.
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2. 3st2 — 9s% + 6s%2 3. 3x3y% — 2x%y + Bxy

5.21-Tt+3r—rt 6.x2 —xy + 2¢ — 2y
8.4ab + 22 + 6b + 3 9.6n% — 11n — 2
11.22 -8z - 8 12.6p% — 17p — 45
14.80a% + 22 - 6 15.c2 - 49

17. 16r2 - 169 18.5% - 81

20. 2¢% + 322 + 128t

22. 81x* - 16





Simplity.
78024 1)+ (802 - 8)

9.(-6n — 1803 + (~3n + 907
11.(5m? - 2mp ~ %) ~ (~3m + Smp + p1)
18,661+ @0+ 3+ 12)
16.-9(5% - )

17 ~6atula’o - auwh)

10,262 + xy - 29%)

2. )6+ 4)
2.y - 87
25, (5 + dw)Be — dw)

2.0 + 25)0? — 2us + 457)



